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1) 3a + 5 – 7a = ______ 
 

2) − − +  +3x 6 4x 9 4  = _____ 
 

3) − + − −4 4 5(7x 4) (9x 10 x ) = _____ 
 

4) − + − −
17(3x 1) (12x 24)
4

= _____ 

 
5) − + −3.5x 2 5.2x 3= _____ 

 
6) Jonathan had $ − − +23x 17x 19  in his bank account. Now 

he deposited $ − + −34x 7x 25 . What is his net balance? 

 
 

7) If “a” represents the number of apples and “b” represents 
the number of oranges, then write an expression for the 
following figure and combine the like terms. 

 
 

8) Combine the like terms and put your answer as shown for 
one of the following. 

 

COMBINING LIKE TERMS WORKSHEET  
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9) − − + + − + − + +2 2 2 2 2 37x y 19xy 20xy 4x y 20xy 8xy 3xy 12xy x y= 
_______ 
 

10) + − −3 3(a b) (a b) = ______ 
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1) -4a + 5 

2) 33x – 2 
3) − + −5 4x 16x 14  
4) -24x – 1 
5) 8.7x – 5 
6) − − − −3 24x 3x 10x 6  
7) 

+
11 3a b
2 2

 

8) 

 
9) − − + +2 2 33x y 42xy 40xy x y 

10) +2 36a b 2b  
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Solutions: 
 
1. 3a + 5 – 7a = ______ 
 
Solution: 
 
3a + 5 – 7a = (3a-7a) + 5 = -4a + 5 
 
2. − − +  +3x 6 4x 9 4  = _____ 
 
Solution: 
 
− − +  + = − − + + = −3x 6 4x 9 4 3x 6 36x 4 33x 2  
 
3. − + − −4 4 5(7x 4) (9x 10 x ) = ___ 
 
Solution: 
 

− + − − = − + + − − = − + −4 4 5 5 4 4 5 4(7x 4) (9x 10 x ) x (7x 9x ) 4 10 x 16x 14  
 

4. − + − −
17(3x 1) (12x 24)
4

= _____ 

 
Solution: 
 

− + − − = − − − + = − −
17(3x 1) (12x 24) 21x 7 3x 6 24x 1
4

 

 
5. − + −3.5x 2 5.2x 3= _____ 
 
 
Solution: 
 

− + − = + + − − = −3.5x 2 5.2x 3 (3.5x 5.2x) ( 2 3) 8.7x 5  
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6. Jonathan had $ − − +23x 17x 19  in his bank account. Now he 
deposited $ − + −34x 7x 25 . What is his net balance? 
 
Solution: 
 
The net balance can be obtained by adding the given two 
algebraic expressions. 
 

( ) ( )− − + + − + −

= − − + − + + −

= − − − −

2 3

3 2

3 2

3x 17x 19 4x 7x 25

4x 3x ( 17x 7x) (19 25)

4x 3x 10x 6

 

 
7. If “a” represents the number of apples and “b” represents the 
number of oranges, then write an expression for the following 
figure and combine the like terms. 

 
Solution: 

3a + 1 1
2

b + 2 1
2

a = +
11 3a b
2 2

 

 
8. Combine the like terms and put your answer as shown for 
one of the following. 
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Solution: 
 

 
9. − − + + − + − + +2 2 2 2 2 37x y 19xy 20xy 4x y 20xy 8xy 3xy 12xy x y= 
_______ 
 
Solution: 
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− − + + − + − + +

= − + + − − − + + + +

= − − + +

2 2 2 2 2 3

2 2 2 2 2 3

2 2 3

7x y 19xy 20xy 4x y 20xy 8xy 3xy 12xy x y

( 7x y 4x y) ( 19xy 20xy 3xy) (20xy 8xy 12xy ) x y

3x y 42xy 40xy x y

 

 
10. + − −3 3(a b) (a b) = ______ 
 
Solution: 
 

= + + + − − + −

= + +

+

+ − + −

=

− −

+

+

3 2 2 3 3 2 2 3

3 2 2 3 3 2

3

3

2 3

2

3

a 3a b 3ab b (a 3a b 3ab b )

a 3a b 3ab

(

b a 3a b 3ab b

a

a b a

6 b

( b)

2b

)
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1. Like terms are terms with the same 
variable parts. 

2. Combining like terms means 
adding or subtracting like terms. 

3. Addition and subtraction should be 
performed with like terms only 
whereas there is no such rule with 
multiplication and division. 
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